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Fluency Fifteen [40221)

Place Value

1.What is the digit total of the numbers below?
4567
2. What is 120 less than 47407

3. Write these numbers in ascending order.

80 -800 -8 800 O

4. Write these numbers in descending order.
23 -54 -200 43 56

. What is 35.4m into cm?

What is 4739cm in m?

Round 2289 to the nearest 1000.

Round 6373 to the nearest 100

© 0 N O O

What are the missing numbers in this sequence?

250 -150 @ 50 150 250 D
| | | | | | |

10. What is LXXIII in digits?

Addition and Subtraction
11. £17.64 + £74.38 =
12. 8273 - 456 =
Multiplication and Division
13.£382x 3 =
14. Divide 645 by 5.

Fractions

15. 1
— of 30 =
6
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